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11,997,378
407,000
1,478,000
2,634,030
200,000
7,278,348

11,961,511
401,000
1,478,000
2,625,928
226,400
7,230,183
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11,997,073
407,000
1,478,000
2,634,030
200,000
7,278,043

11,961,511
401,000
1,478,000
2,625,928
226,400
7,230,183
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11,997,073
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1,478,000
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200,000
7,278,043
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226,400
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0
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0
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26,400
61,600
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0
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52,241
39,000
13,241

44,139
30,898
13,241
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52,241
39,000
13,241

44,139
30,898
13,241

78,9003 x2F 250!
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52,241
52,241
39,450
29,982

44,139
44,139
31,560
22,092
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A S2elt
PSEL R b
el St 2el (st SE3IH) EEREE)
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2
i 9,468 9,468 0
—FE5gsY 78,003 x2H +452 7,101 7,101 0
| 4,971 4,971 0
= 2,130 2,130 0
—A Xt 78,0032 +10 1,578 1,578 0
| 1,105 1,105 0
i 473 473 0
—S2&8s 4,112 3,900 212
| 2,942 2,730 212
= 1,170 1,170 0
ZITIHOIZEXEE OIHE & (2024H) 6,000 0 6,000
= 6,000 0 6,000
206 M= 4l 6,000 0 6,000
= 6,000 0 6,000
01 M=l 6,000 0 6,000
OZ3otsHel 45+ 6,000 0 6,000
= 6,000 0 6,000
Hees(22tel) 305 0 305
BEXE(ot=ESE3I) 305 0 305
B = 305 0 305
802 Btet=J|E 305 0 305
02 Al - SHIEXZEHEZ 305 0 305
02023 XIotAld= KIBHE AL XI& EA&H0
g g3 300 0 300
02023 XIStAIE 2 KIBHERAL IR FaH0o M
g olktete =3 5 0 5
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